EARAROBREBRT —5 XN—ZXBISH—F

2022462868 (B) 1EIHR12H

ISR 3%

KREEF FSiin

\(9&1@1 /J\%‘ (eEwl - | 5 12000 FEE

[x&%] 1 7&:5,200,000 @ .~ 23&:2,100,000 @ 3 & :1,300,000 M

/4375 :780,000 5 37&:520,000 F

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= = SEIAEA 13. - . . FEEESR (FER)
118116 ASAATIUAS 4 3 =5 1(1_3)0 4-4 37.1| 87.0 1 ézg;) il
R:TSvIIAR BAVT—STFYF+« SRS
w R _ st 3 | )I|EEHE 1:13.1 2-2 37.4] 8.1 | 3 462 |ZAEET RR)
4| LY R7ZIRo—)b [B] 5.0 a/d) © | @) mER—2L-y
R:ZU—ve—0O— B:LyRUYT—)L #HBIT7—LA
- o MEXE : - HRE (&H
g|Lbyya—vaq 303 e (12.113/.253 5-4 37.5| 82.4 | 10 (4_760) EH%:( )
RIIZARIT—IYF— B:N\YE—Fr—h WE IE
Sy o ML : - hTilts (3E3R)

6| VT I/ FavY i 3 Er (11.113/.47) 1-1 38.1] 80.7 | 9 528)6 st

R:Va—hnrF—/ B:SEVINIH—F EE s

~ ~ s 3 | BKE— 1:14.3 9-9 37.9]75.2 | 2 494 | BURTIE (FEH)
1 ¢ KNI E P4 56.0 ) () | RS
RiUFVF4—X BiRkyId—F L= Nl 1EfE

e Bl - » I (&

) | Y RSZII 4% 3 Bk 1.(16.5 15-15 [ 37.4| 73.3 | 12 (4_43 ?;EH B ()

RIANRRATIWG B:IF7HA " g
S i~ s 3 | )= 1:14.6 2-2 38.9|73.1 | 4 456 | KIEEAN (RHR)
70812 NIOIRVITY 52.0 (3/4) (-g) |TOEESE
RiZwFk—TA) B:IY—II)L IV Tr—L
— Q B3| AEEN 1:14.8 12-12 [37.9] 70.7 | 16 | 478 |AER (E#)

5 r—tEuU~xX0O 56.0 (1 1/4) 1) BB
RNBVTSY B:v—TU—R5T BRESH IRTAT7—L
= Y ¢~ == 4 3 | HRER— 1:14.9 5-6 38.9/70.5| 6 472 | INERREB ()

9|8[15| FATAYATS 54.0 a2 o |BETE
R:OJ94F B:RFSTSR #HBEIT7—L
» 4 3 | SHER 1:15.2 9-9 38.8]67.9| 8 478 |SFBR &R
Eﬂ 7 J08% 56.0 (1 172 0) alllEs
RiFVyVvY/FEF B:AF /A DS
5 N v s 3 | JIZERE 1:15.3 7-6 39.1| 67.3 | 5 456 | AKERF (27H)
Mz I/ NITUAN .0 (3/4) 4 |RHEX
RiZTvE—7AI B:FvI1S #HBT7—L
~) g _ ft 3 | REBER 1:15.5 16-16 | 38.2 | 64.7 | 15 | 414 |{PEfE— EH)
120111 |94Y9—=RL—h 54.0 ) ¢ | B TWIF—L
RS/ vvv—0 B:EFVI BRI 7—L
—3 4 3 | ENEME 1:15.6 12-12 38.7| 64.3 | 7 462 | BTEEBS (FER)
1317114 AARAEIL—Y 2 56.0 ) g | B EVILYRIF—L
RIE—UR 8:7«s0VI—Y2 /=Y ITr—1L
= s 3 | KOEE 1:15.8 7-8 39.6| 63.6 | 14 | 474 |PAKRE (ER)
14/ 5] 9| F3IHYR 56.0 a1/2 (g |WEHR
RINVIATAwIVAUT— BE—DqsvFR BEI7—LA
—2~ st 3 | Slig— 1:16.1 9-9 39.7] 61.2 | 13 | 482 |BAEX EH)
15/5|10| TLAT7AU—Y 5.0 a1 (o | BT
R:k40 B:FUEUEY N T—H5
N N DS : = SHE— (FRN)
16 3| RHNT Ty A—R i 3 e 1(.31/62‘.)2 12-12 [39.3]59.9 | 1 (4_4(3 éﬁﬁﬂz%
RiZvF—74) B:FAD9 4 X=— #HEI77—LA
[ BN
En'w 49.3-37.4
NaYIA L | 12.7-11.0-11.9-12.4-12.2-12.8
@ 11— —B&IEfI
13— —
20—F—
30—7— 6(4,12)16(8,15) (9,13) (7,10,11)-(5,3,14) 2,1
43—F— (+6,4,12) (8,16) (13,15)9(7,10,11)-(5,3,14) -2-1
0 ILRE
BB 16 180 JA R 4-16 2603 % 3E 2-8 460M 3EE 4-8-16 3,420
B B 16 110M 8-16 780M4 5 E 4-16 480H4 3EH 16-4-8 8,220M
4 170M 4-8 2,150 =51 16-4 750
8 5304

ABIC OV TRUTEREERRODDZE. THRIIZEL.




